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First.

You have to understand
the problem.

Second.

Find the connection between
the data and the unknown.
You may be obliged

to consider auxiliary problems
if an immediate connection
cannot be found.

You should obtain eventually
a plan of the solution.

Third.
Carry out your plan.

Fourth.
Examine the solution obtained.

HOW TO SOLVE IT

UNDERSTANDING THE PROBLEM

What is the unknown? What are the data? What is the condition?
Is it possible to satisfy the condition? Is the condition sufficient to
determine the unknown? Or is it insufficient? Or redundant? Or
contradictory?

Draw a figure. Introduce suitable notation.

Separate the various parts of the condition. Can you write them down?

DEVISING A PLAN

Have you seen it before? Or have you seen the same problem in a
slightly different form?

Do you know a related problem? Do you know a theorem that could
be useful?

Look at the unknown! And try to think of a familiar problem having
the same or a similar unknown.

Here is a problem related to yours and solved before. Could you use it?
Could you use its result? Could you use its method? Should you intro-
duce some auxiliary element in order to make its use possible?
Could you restate the problem? Could you restate it still differently?
Go back to definitions.

If you cannot solve the proposed problem try to solve first some related
problem. Could you imagine a more accessible related problem? A
more general problem? A more special problem? An analogous problem?
Could you solve a part of the problem? Keep only a part of the condi-
tion, drop the other part; how far is the unknown then determined,
how can it vary? Could you derive something useful from the data?
Could you think of other data appropriate to determine the unknown?
Could you change the unknown or the data, or both if necessary, so
that the new unknown and the new data are nearer to each other?

Did you use all the data? Did you use the whole condition? Have you
taken into account all essential notions involved in the problem?

CARRYING OUT THE PLAN

Carrying out your plan of the solution, check each step. Can you see
clearly that the step is correct? Can you prove that it is correct?

LOOKING BACK

Can you check the result? Can you check the argument?
Can you derive the result differently? Can you see it at a glance?
Can you use the result, or the method, for some other problem?
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Karkx pewmwmames 3a0any

TNOHHMAHHE TNMOCTAHOBKH 3ANAYH

I
HywHo sicHO
NOAnATH  3a-

navy.

Ymo neussecmno? Ymo Oano? B uem
cocmoum ycaesue?

B03MOXHO /M YyIOBJETBOPUTbL yCJIOBHIO?
JIOCTaTOYHO JI YCJOBHE JUIsi ONpeAeeHHs
HeussecTHoro? Mam neocrarouno? Man upes-
mepHo? Mum mporuBopeunBo?

Cnenaiite yeprex. Beexure noaxonsuiue
0603HayeHus1.

Pasnemte ycnosue Ha uactu. [locrapait-
TeCh 3alHCaTh HX.

COCTABJIEHHE IJIAHA PELHIEHHSI

It
HyHo HalTH
CBfI3b MEKNY
JNaHHBIMH ~ H
HeH3BeCTHbIM.
Ecau ne yna-
ercs  cpasy
0o0GHAPYHUTD
aTy  CBfi3b,

BO3MOXKHO,
noaesuo Oy-
JeT paccMoT-
peTb BCIOMO-

rateibHble
sajnaud. B ko-
HEYHOM cuere

He06X0AHMO
npuiiTH K naa-
HY peLleHus.

He BcTpeyanach s BaM paHblue 3Ta 3a-
naya? Xors Gbl B HECKOJILKO Apyroii hopme?

H3gecmua au sam Kaxas-nu6yos pood-
cmeennas 3adaqa? He 3HaeTe s TeopeMwl,
KOTOpasi Mor/a Obl OKa3aTbCsl IMOJIE3HOH?

Paccmompume neuszsecmunoe!/ U nocra-
paiiTech BCIOMHHTL 3HAaKOMYIO 3afayy C TeM
e HJIH TOJOOHHIM HEH3BECTHBIM.

Bom 3a0aua, poocmsennas ¢ 0arHoi u
yuce pewennas. Heav3sn au 8ocnoas3o-
samscst e? Henbss M npUMEHUTb ee pe-
3yabraT? Heab3s JM HCmOMB30BaTh METOL
ee pewenusi? He caepyer am BBecTH Kakofi-
HUOY/ZIb BCIOMOraTeJbHbIA 3JEeMEeHT, YTOGbI
CTa/J0 BO3MOXHO BOCHOJIb30BAaThCS TMPEXKHEH
3amayei?

Hesbsst i unaye chopmy.upoBath 3ama-
yy? Eme unaue? BepHuTech K onpenesieHusM.

Ecou He ynaercs pemMTh NaBHYIO 3aia-
4y, NONBLITAHTECh CHaYya/la PelMTbh CXOIHYIO.
Heab3s au npuaymats 6Gosiee AOCTYNHYIO
cxoanylo 3aaauy? Boaee obuiyio? Boaee

111
HyxHo ocy-
IECTBUTD
IjiaH  peiue-
HUS.

YaCTHYIO? AHaJIOTHYHYIO 3ajaqy? Heabss aun
pemwuTb 4Yacth 3agayu? CoXpaHHTE TOJBKO
4acTb YCJOBHsI, OTOPOCHB OCTaJbHYIO YaCTb:
HACKOJIbKO ONpEAEJICHHHIM OKaXeTcs TOraa
HEHU3BECTHOE; KaK OHO CMOXET MEHAThCA?
Henb3s s usBneus yto-1M60 mosesnoe u3
JaHHbIX? Henbast i mpuaymath Apyrue gas-
Hble, H3 KOTOPHIX MOXHO ObiI0O Gbi omnpene-
JuTh HeusBecTHoe? Hesb3s s H3MeHHTDH He-
U3BECTHOE, WM JIAHHBIE, WIH, eCJIH Heo6X0-
IMMO, H TO W JpPYroé TaK, 4ToOBl HOBOE
HEH3BECTHOE H HOBHIE JaHHLIE OKa3aJHCh
6mnke apyr K apyry?

Bce nM paHHBIEe BaMH MCIOJIB30BaHHI? Bee
Ju ycaosue? [IpHHATH /I BaMH BO BHUMaHHE
BCE CYyLIECTBEHHble NMOHATHSA, COAEpIKaIIUECs
B 3ajaye?

OCYILIECTBJIEHHE IVIAHA

OcyuiecTBasiss IVIaH PEHIEHHS, KOHmMpo-
Aupyime Kadxcoblit c8oii waz. SIcHO v Bam,
YTO NpPEANPHHATHIA BaMH mar npasuicH? Cy-
MeeTe JM J10Ka3aTh, YTO OH NPABHJEH?

B3rJs14 HA3AL

(M3yyeHHe nOJIyYEHHOrO pelleHHs)

v
Hyxno wu3y-
YUTh HaHAeH-
HO€ pelleHHne.

Henb3s su  nposepums  pesysromam?
Hesb3st Jim npoBepuTh X0A peuieHus?

Hesb3st /M mosyudTs TOT XKe pesyJbTaT
uHaye? Heubss Jim ycMOTpeTh €ro c OxHOro
BarJsjar

Henbasa s B Kakoil-uuGyap npyroit 3a-
Jlaye MCHOJb30BATh IOJYYEHHBIA pPe3yJbTaT
WIH METOJ DPELIEHHA?



KAK HCKATDb PEUIEHHE?!
(Coxpamennniii BapuaHT Ta6auubl)

K ' P Qe o 1 H OW 1. [loname npedaoscennyio 3adawy.
(0% ? TO SOLVE IT 2. Haiimu nymo om Heussecmuozo & OQHHbLM, eCAll HYKHCHO,
é gaq > paccamompes npomexcymounsie 3adaun (,ananus*),
: ' 3. Peaiusosamv Haiidennyio udeio pewerus (,cunmes*).

4. Pewenue npOsepump U OyeHumbv Kpumudecku.

2.

Cdopmy/mpoBaTh OTHOIIEHHE (WH OTHOLICHHS) MEXKIYy HeHs-
BECTHbIM H JaHHBIMH.

[Ipeo6pasoBath Hen3BeCTHble SJeMeHTHI. [lOMbITaTbCA BBECTH
HOBBIE HEH3BECTHble, GoJee OJH3KHE K JTaHHBIM 3aayH.

[IpeoGpasoBath nanHble 34eMeHTHl. [lonbITaTbCsl MOAYYHT,
TaKkHM 0O6pa3oM, HOBBIE 9JeMeHTHl, Gojsee O6JH3KHe K HCKOMBIM
HEeH3BECTHBIM.

7 ‘ ' Pemntb T0OAbKO 4acTb sajmay.
(/ A Y 10BJ€TBOPHTb TOJAbKO HaCTH YCJOBHiA: HACKOJIbKO Heompene-
' = ey JeHHBIM OKaXeTcs Toraa Hem3pecTHoe? ([eomeTpuueckne mecta!
6{ A | /" 6.POLYA i couestp )
THIO.

O606muth. PaccMoTpeTs 4acTHble cayuan. [Ipumenutb aHaso-

1.
Yro raacur 3agaya? Yro nauo?
Yro HymKHO HaHTH?
OnpeneseHo JH  HeM3BECTHOE
3. NaHHBIMH 3amayu? Manm oum He-

HO /-'I 9% & d(/ JOCTAaTOYHbI, HJH e YPEe3MEPHbI P
i\ ~ McnbiThiBath Heabss . chopmysmposats
NPaBHAbHOCTD 3ajauy uHaye? 3
KamKIoro Iuara, Henb3s au Haiith cesisb Mex- L
TpHHHMAA JHWb | ny pamkoid 3anmavedl M Kakoi-mu- | HATP TEP-
T0, »4TO YCMa- |  Gynp samaveli ¢ M3BecTHhIM pe- | MAHBL HX
TpHBAETCA C MON- | menuem? Miau ¢ 3anaueil, pemaio- 3’;‘;;’1‘3”&
9 n Y M ’7/) W{ HOH  fICHOCTBIO | mefica npome? Pemaioweiica (Ma cKa an),
\ HJIH BbIBOJUTCH C cpagy? G
é{:{ NoAHOA  1ocTO- Smu sonpocst HyxHO nOGMO-
BEPHOCTHIO pAmb Kaxcoblil pas, K020a 8 xode
(lekapT) pewenus wacmynaem 3amunxa,
npu pemenus Kaxcdoil npomedcy-
mounoil 3adawu. Kpome mozo:
3 ) pe@/\L(é géﬂz 17/\ d(//‘{ 4 Bce nu nanuble 3agaun  Gbuin
: yXKe HCH0Jb30BaHbI?
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INpaBnonono6en mu pesyabrat? [loyemy?

Henb3sg au cnenats mposepiy?

Her an npyroro myTw, Beayiuiero K monydyeHHoMy pe3yJbTaty?
Bosee npaMoro mytH? Kakue pesyabTaThl ellle MOKHO NMOMYYHTb

Ha TOM e MyTH?




